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Q22.In a certain language, MINOR iIs written as
MQLKH ,and then how is ZIRAF written in same

language? %ewm s D
(a) ZQHYT — Q‘“‘”OK —
(b) QZHYT ma L KH Z 1T RAF
(c) ARIZU e S
(d) HYTQJ s S ”? ALz d




Q23.In a certain code language ‘DEAR’ is coded as ‘7465’ and
‘LIFE’ is coded as ‘8394’. Then how will ‘IDEAL’ be coded
in the same code language

(a)73648 OA & L1 p@? 9 ? hL
(b)37684 7—465 % 39 T
(c)84673 - o >
(d)37468 +—
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Q24.1f 'E'iscoded as ' 5' and ' PEN' is coded as ' 35' then
how will ' PAGE' be coded?

@21@ Pé*\ll‘é@

(a) 28
(b) 27 -
(d)29 «— Pros
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——

Cm——



Q25. If DIG=41 and GOAD=55, then FACT=_ . Jig
DIG=41 3X GOAD=55, dl FACT=____|

(a))461 Grik BELERD
ks DL &
(c)53 :
()63 D.ﬂ_,ﬂ -(@vz 1=l
GofD = 54y ¥ 1= 55
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Q26. If X=48 and ACT=48 then TALL = ? gf& X=48 3T AcT=48
A TALL = ?

p X =4 % AcT= 4%
d =
(c) 89 " :
(d) 92 T TaL

Lol tizAlL = ASRE :"
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Q27. If CAB is coded as 6 and BED is coded as 40,then how
will HAD be coded as? Ife¢ CAB®I 6 & & # 3ilT BED &I

40 & T H Ffsd far a1 &, A HAD &1 FJ ;:fza
fRIT SATTIAT?

(a) 88 e o 9
(b) QEL(/ 3Alx2” “@ ¢ %Y
(C)& = /

(d)@ 4< e C_@ &
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Q29. In a certain code language, SON is written as 345 and
ROAM is written as 6412. How will RANSOM be written in

the same language? ROAM

(a) 615342 — 5(‘)“[‘ LI

(b) 651342 3 4 bt g

(c) 615324

(d) 612435
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Q28. If DIG is coded as 25 and CUT is coded as 49, then how

will KICK be coded as?afg DIGSHT 25 & & # 3T CUTHT 49 &
T H FIfsd fFAr Srar @, ar KICK 1 67 9a6R Fifsa

SITTIT?
(a) 43

(b) 39
(c) 41
(d) 34
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Q30. If FLOWER is coded as 14 and DISTASTE is coded as 18,
then how wili §}JR/EAUCRAT be coded as?
7

/S g (oKZ:@

(a) 22— EilowEls

(b)18 ex2=((D) L

(c) 20

(d) 28 Do TASTE =gxz = 1612
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Q31. In a certain language ABIDE is written as 14811625,
then how will CAGED be written as in that language?

(a) 11493514 B DR g ﬁD(

(b) 91416514 L2 3 A 57_ vl ¢
(c) 61492516 Llﬂ,f@f’ sl | 31

() 91492516 _ S Tt

|4s\1625
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Q32. In a certain language ‘EARTH’ is coded as ‘8201815’.
How will ‘ORBIT’ be coded in that language

(a) 18172372 AR TH 0® BIT
(b) 20921815 ~— SMNEIEES (152 9 2o
(c) 37681026 7 - %
(d) 17113912 St 2 S
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Q33. In a certain code language, ' Wand' is coded as ’

240153 and ' curd' is coded as '420193'. How will ' East’ be
coded as in that language?

¢ ST
(a) 421821 W A& N D e
(b) 602019 23 [ 1 1 St
(612120 | [ [ | BaainR i
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Q34. In a certain code language, SKILL is coded as 57 and
LOVE is coded as/4/0/ How will LIE be coded as in that

Ianguage? 5F

@2 il o A A1
(b)@V [2_{3{' <" ' @ e I3 E=2
(c) 26 - e 2
=3
(d) 17 LoV & Q
5! i :
14 22 & “@ UsE:



Q35. If CAT is coded as 3260 and MOD is coded as 133012,

then how will be coded as?
be coded as? (%D 1)

(a) 29130 et { MoD

(b) 21839 2 g9 (3% 2 260 330l 2
(c) 21893 41 X2 73

(d) 41938 ,%J%n - 6 D
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